SECTION 3-6: THE CHAIN RULE

1. Recall Two Versions of the Chain Rule
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2. Understanding what the “formulas” in the book are trying to communicate:
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3. Find the derivatives.

(@) g(0) = sm [S N <7T QB] <
CoS \Tr
43@" s [6"(’9)] CDB( @ " 57 (s lh<’6)>/5

(b) f(z) = (sec(3z) + csc(2z))°
§ CQ 5 (6&(.(3;3 +C sc(z%) < S&C.CB%}(WG%—Z cse(zx)cot(z @)

— o }\OMMS ';Pa'HU’VL

(© gz >— ol

%CX} 3% [Cos(;w—J(x +) cos (X+1) <3x
i

2 2
—2x S x%1) (x3+1) = 3x cosCx+ l)

g

—
—

C 7<'7> + D 3-6 Chain Rule



& A

(d) h(z) = 2z —1)*(2z + 1)°
h'(x)= 3(2x- )(?D(zxﬂ + (2;«3 5 (zx—ﬂ (z)
M el
€4 R

¥
2 5 2
- (o(Zx—D (Z,X—l—h + ID(ZX—D <2X+D

4. Find all z-values Where the tangent to f(z) =

= W is horizontal.
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5. Find all z-values where the tangent to f(z) = (4 —X )3 is parallel to y + 6z = 8.
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